PLW 6 INSTALLATION INSTRUCTIONS

1)

For Concrete, Cinder Block, Brick Mounting: e Lag Bolt Expansion Shield - Boit Size §/16" x 1-1/2* Long
Eor Wood Mounting: Lag Screws 5/16* x 1-1/2" Long (supplied)

Then unpiug phone line connector and emargency button external output connector.

: "
3)

compllance. (see dlagram).

4)

Remova 3/8-16 x1” Max bolt from back uctlon, 1ify off front cover,

Remove phone from unit by unscrewing the six (6) tamper resistant front pane! screws (too! provided).

Back Haif (A) must be mounted 34 9/16” inchaes above ground 37 9/ 16 to mounting hola for ADA phone

Back half s attached to mounting surface using (4) 5/16 x L 1/2” Iag bolts and (4) 5/16" flat washers supplied.

5) ;;oer-\g gc;gt; (Hse)xlsb gf:agg?gc?; rz':flt%gbt:fk“ cover W’ over top of back half and sliding down. Re-install (1)
6) Re-Install phone,
— el 2 BVTS N _BACK . OF CHANNEL
RA
i Joﬁs'}?;ﬁr'a&%?:
J 401-T33-gase 22
e
. —?8— 7 T
Slexiyg |
/ B BoLTs To WhlL| | A FronT
38’ ) | { > 3}{; )
v P 1 -
" SRR A
| POTET R 25"
Db I
_ '
Ha-toxrv | € ,"‘"""" l BoTToM VIEW |
o v NN D/E 718" DIA. | v
T T e | 6Q0e || AETEA e |
o - l D-ELecTRICAL || Ly
whsweR B —- 1 E-PHONE e || T 5
, oy
(5) --- | -g= -
vl
C LRONT |LIEY |
43 3/4” LFT }_37 9/16" ,.Mlmé?, Lec /3_ TION OF OPTIONAL
a 0{- PHoNE 34 9/16,,l NOUT HOLES
¢ GRADE . \L A
§12/16 QM




